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Cấu trúc dữ liệu

(Data structure)



Định nghĩa

• Cấu trúc dữ liệu là tập hợp của các giá trị cùng mối quan hệ giữa

chúng được mô tả thông qua các hàm số và phép toán.

• Cấu trúc dữ liệu cũng được hiểu là cách tổ chức và lưu trữ dữ liệu

sao cho việc truy xuất và thi hành, cải tiến được hiệu quả.

• Với mỗi bài toán, việc lựa chọn cách thức tổ chức dữ liệu cần gắn

chặt với các phép toán sẽ được sử dụng trên dữ liệu.
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Tại sao quan tâm?

• Tổ chức dữ liệu là cách thức con người thực hiện khi cần giải quyết

một vấn đề trong cuộc sống.

• Khi làm việc với lượng dữ liệu lớn, một cách tổ chức dữ liệu tốt sẽ

tiết kiệm chi phí.

� Dung lượng (space).

� Thời gian.

� Công sức lập trình và bảo trì.

• Là tiền đề, chìa khoá để áp dụng các giải thuật giúp giải quyết bài

toán.
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Các kiểu cấu trúc dữ liệu cơ bản

• Mảng (array)

• Danh sách liên kết (links lists)

• Ngăn xếp (stack)

• Hàng đợi (queues)

• Cây (trees)

4



Các kiểu cấu trúc dữ liệu cơ bản

• Mảng (array)

• Danh sách liên kết (links lists)

• Ngăn xếp (stack)

• Hàng đợi (queues)

• Cây (trees)

4



Các kiểu cấu trúc dữ liệu cơ bản

• Mảng (array)

• Danh sách liên kết (links lists)

• Ngăn xếp (stack)

• Hàng đợi (queues)

• Cây (trees)

4



Các kiểu cấu trúc dữ liệu cơ bản

• Mảng (array)

• Danh sách liên kết (links lists)

• Ngăn xếp (stack)

• Hàng đợi (queues)

• Cây (trees)

4



Các kiểu cấu trúc dữ liệu cơ bản

• Mảng (array)

• Danh sách liên kết (links lists)

• Ngăn xếp (stack)

• Hàng đợi (queues)

• Cây (trees)

4



Mảng (array)

0 1 2 3 4 5 6 7 8 9

in use free

Array length is 10

First index

Element
(at index 4)

address Indices

5



Programmer

Memory

102

Memory
manager



Programmer

Memory

102

int x;

Memory
manager



Programmer

Memory

102

int x;

easy

Memory
manager



Programmer

Memory

102

int x;

124

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

so easy

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

65

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

65

int A[4];

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

65

int A[4];

easy

106

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

65

int A[4];

106

A[0]=12; A[1]=5;

A[2]=10; A[3]=9;

Memory
manager



Programmer

Memory

102

int x;

124

x=65;

65

int A[4];

106

A[0]=12; A[1]=5;

A[2]=10; A[3]=9;

As easy as a pie
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Tell me a new size

I will creat new block

and copy A to it
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Yes! Let do it.

Double it’s size
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Danh sách liên kết

head

data data data

previous

data · · ·

current

data data

null

Listing 1: Simple node

1 s t r u c t node{

2 i n t x ;

3 node ∗ next ;
4 } ;

9



So sánh các kiểu dữ liệu danh sách

Linked list Array Dynamic array

Indexing O(n) O(1) O(1)

Insert/delete

at beginning

O(1) N/A O(n)

Insert/delete

at end

O(1) when last element is

known;

O(n) when last element is

unknown

N/A O(1) amortized

Insert/delete

in middle

search time + (1) N/A O(n)

Wasted space

(average)

O(n) 0 O(n)
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Ngăn xếp (stack)

push pop

top

• Con người dùng cấu trúc dữ liệu stack khi giải quyết một vấn đề.

• Một vùng nhớ đặc biệt của máy tính, nơi lưu trữ các biến tạm thời

được tạo ra trong hàm (bao gồm cả hàm main).

• Dùng nhiều trong thuật toán đệ quy.
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Cây

r

a

c d e

b
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Các thuật toán sắp xếp



Selection sort

• Input: Mảng gồm n phần tử A[1 . . . n].

Output: Mảng A[1...n] đã được sắp thứ tự.

• Ý tưởng: Chọn phần tử nhỏ nhất (hoặc lớn nhất) trong dãy xếp vào

vị trí đầu tiên (hoặc cuối cùng), tương tự với phần tử thứ 2,3. . . lặp

lại quá trình này với các phần tử còn lại.

13



Selection sort’s pseudo-code

Selection sort
1: for i ← 1 to N do

2: min← i

3: for j ← i + 1 to N do

4: if A[j ] < A[min] then

5: min← j

6: swap(A[i ],A[min])

14



Selection sort

Độ phức tạp tính toán:

• Thuật toán ít phải đổi chỗ các phần tử (n lần đổi chỗ), số phép so

sánh luôn là O(n2).

• Thuật toán tốn thời gian gần như bằng nhau đối với mảng đã được

sắp xếp cũng như mảng chưa được sắp xếp.
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Insection sort

• Input: Mảng gồm n phần tử A[1...n].

Output: Mảng A[1...n] đã được sắp thứ tự.

• Ý tưởng: Chèn một phần tử đang xét của dãy vào một dãy con đã

được sắp xếp.

16



Insertion sort’s pseudo-code

Insertion sort
1: for j ← 2 to N do

2: key← A[j ]

3: i ← j − 1

4: while i > 0 and A[i ] > key do

5: A[i + 1]← A[i ]

6: i ← i − 1

7: A[i + 1]← key

17



Insection sort

Độ phức tạp tính toán:

• Trường hợp tốt nhất: n − 1 phép so sánh, 0 lần đổi chỗ.

• TH trung bình: n2/2 phép so sánh, n2/4 lần đổi chỗ.

• TH xấu nhất: n2/2 phép so sánh, n2/2 lần đổi chỗ.

18



Mergesort

Ý tưởng:

Chia: Chia dãy n-phần tử cần sắp xếp thành hai dãy con, mỗi dãy n/2

phần tử.

Trị: Sắp xếp hai dãy con bằng đệ quy sử dụng merge sort.

Hợp: Dính hay dãy con lại với nhau để thu được dãy sắp xếp hoàn chỉnh.

19



Merge sort’s pseudo-code

Merge sort

1: n1 ← q − p + 1

2: n2 ← r − q

3: for i ← 1 to n1 do

4: L[i ]← A[p + i − 1]

5: for j ← 1 to n2 do

6: R[j ]← A[q + j ]

7: L[n1 + 1]←∞
8: R[n2 + 1]←∞
9: i ← 1

10: j ← 1

11: for k ← p to r do

12: if L[i ] ≤ R[j ] then

13: A[k]← L[i ]

14: i ← i + 1

15: else

16: A[k]← R[j ]

17: j ← j + 1
20



Mergesort’s java-code

5

Abstract in-place merge demo

E E G M R A C E R T

lo mid mid+1 hi

a[]

sorted sorted

Goal.  Given two sorted subarrays a[lo] to a[mid] and a[mid+1] to a[hi], 

replace with sorted subarray a[lo] to a[hi].

6

Abstract in-place merge demo

A C E E E G M R R Ta[]

sorted

lo hi

Goal.  Given two sorted subarrays a[lo] to a[mid] and a[mid+1] to a[hi], 

replace with sorted subarray a[lo] to a[hi].

7

Merging:  Java implementation

A G L O R H I M S T

A G H I L M

i j

k

lo himid

aux[]

a[]

private static void merge(Comparable[] a, Comparable[] aux, int lo, int mid, int hi)
{
 
   for (int k = lo; k <= hi; k++)
      aux[k] = a[k];

   int i = lo, j = mid+1;
   for (int k = lo; k <= hi; k++) 
   {
      if      (i > mid)              a[k] = aux[j++];
      else if (j > hi)               a[k] = aux[i++];
      else if (less(aux[j], aux[i])) a[k] = aux[j++];
      else                           a[k] = aux[i++];
   }
} 

copy

merge

8

Mergesort:  Java implementation

lo mid hi

10 11 12 13 14 15 16 17 18 19

public class Merge
{
   private static void merge(...)
   {  /* as before */  }
   
   private static void sort(Comparable[] a, Comparable[] aux, int lo, int hi)
   {
      if (hi <= lo) return;
      int mid = lo + (hi - lo) / 2;
      sort(a, aux, lo, mid);
      sort(a, aux, mid+1, hi);
      merge(a, aux, lo, mid, hi);
   }

   public static void sort(Comparable[] a)
   {
      Comparable[] aux = new Comparable[a.length];
      sort(a, aux, 0, a.length - 1);
   }
}

21



Merge sort’s main pseudo-code

Merge sort(A, p, r)

1: if p<r then

2: q = b(p + r)/2c
3: MERGE-SORT(A, p, q)

4: MERGE-SORT (A, q + 1, r)

5: MERGE-SORT (A, p, q, r)

22



Mergesort trace

9

Mergesort:  trace

result after recursive call

Trace of merge results for top-down mergesort

                                                    a[]
                                    0  1  2  3  4  5  6  7  8  9 10 11 12 13 14 15  
                                    M  E  R  G  E  S  O  R  T  E  X  A  M  P  L  E
        merge(a, aux,  0,  0,  1)   E  M  R  G  E  S  O  R  T  E  X  A  M  P  L  E  
        merge(a, aux,  2,  2,  3)   E  M  G  R  E  S  O  R  T  E  X  A  M  P  L  E  
      merge(a, aux,  0,  1,  3)     E  G  M  R  E  S  O  R  T  E  X  A  M  P  L  E  
        merge(a, aux,  4,  4,  5)   E  G  M  R  E  S  O  R  T  E  X  A  M  P  L  E  
        merge(a, aux,  6,  6,  7)   E  G  M  R  E  S  O  R  T  E  X  A  M  P  L  E  
      merge(a, aux,  4,  5,  7)     E  G  M  R  E  O  R  S  T  E  X  A  M  P  L  E  
    merge(a, aux,  0,  3,  7)       E  E  G  M  O  R  R  S  T  E  X  A  M  P  L  E  
        merge(a, aux,  8,  8,  9)   E  E  G  M  O  R  R  S  E  T  X  A  M  P  L  E  
        merge(a, aux, 10, 10, 11)   E  E  G  M  O  R  R  S  E  T  A  X  M  P  L  E  
      merge(a, aux,  8,  9, 11)     E  E  G  M  O  R  R  S  A  E  T  X  M  P  L  E  
        merge(a, aux, 12, 12, 13)   E  E  G  M  O  R  R  S  A  E  T  X  M  P  L  E  
        merge(a, aux, 14, 14, 15)   E  E  G  M  O  R  R  S  A  E  T  X  M  P  E  L  
      merge(a, aux, 12, 13, 15)     E  E  G  M  O  R  R  S  A  E  T  X  E  L  M  P 
    merge(a, aux,  8, 11, 15)       E  E  G  M  O  R  R  S  A  E  E  L  M  P  T  X  
  merge(a, aux,  0,  7, 15)         A  E  E  E  E  G  L  M  M  O  P  R  R  S  T  X 

lo hi

Mergesort:  animation

10

http://www.sorting-algorithms.com/merge-sort

50 random items

in order

current subarray

algorithm position

not in order

Mergesort:  animation

11

http://www.sorting-algorithms.com/merge-sort

50 reverse-sorted items

in order

current subarray

algorithm position

not in order

12

Mergesort:  empirical analysis

Running time estimates:

・Laptop executes 108 compares/second.

・Supercomputer executes 1012 compares/second.

Bottom line.  Good algorithms are better than supercomputers.

insertion sort (N2)insertion sort (N2)insertion sort (N2) mergesort (N log N)mergesort (N log N)mergesort (N log N)

computer thousand million billion thousand million billion

home instant 2.8 hours 317 years instant 1 second 18 min

super instant 1 second 1 week instant instant instant

23



Mergesort’s pseudo-code
2.3 Designing algorithms 35

5 2 4 7 1 3 2 6

2 5 4 7 1 3 2 6

2 4 5 7 1 2 3 6

1 2 2 3 4 5 6 7

merge

merge

merge

sorted sequence

initial sequence

mergemergemergemerge

Figure 2.4 The operation of merge sort on the array A D h5; 2; 4; 7; 1; 3; 2; 6i. The lengths of the
sorted sequences being merged increase as the algorithm progresses from bottom to top.

A recurrence for the running time of a divide-and-conquer algorithm falls out
from the three steps of the basic paradigm. As before, we let T .n/ be the running
time on a problem of size n. If the problem size is small enough, say n � c

for some constant c, the straightforward solution takes constant time, which we
write as ‚.1/. Suppose that our division of the problem yields a subproblems,
each of which is 1=b the size of the original. (For merge sort, both a and b are 2,
but we shall see many divide-and-conquer algorithms in which a ¤ b.) It takes
time T .n=b/ to solve one subproblem of size n=b, and so it takes time aT .n=b/

to solve a of them. If we take D.n/ time to divide the problem into subproblems
and C.n/ time to combine the solutions to the subproblems into the solution to the
original problem, we get the recurrence

T .n/ D
(

‚.1/ if n � c ;

aT .n=b/CD.n/C C.n/ otherwise :

In Chapter 4, we shall see how to solve common recurrences of this form.

Analysis of merge sort

Although the pseudocode for MERGE-SORT works correctly when the number of
elements is not even, our recurrence-based analysis is simplified if we assume that

Cách tính thời gian với giải thuật sử dụng đệ quy:

T (n) =

{
Θ(n) nếu n ≤ c ,

aT (n/b) + D(n) + C (n) còn lại.
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Mergesort’s running time
38 Chapter 2 Getting Started

cn

cn

…

Total: cn lg n + cn

cn

lg n
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n

c c c c c c c
…

(d)

(c)

cn

T(n/2) T(n/2)

(b)

T(n)

(a)

cn

cn/2

T(n/4) T(n/4)

cn/2

T(n/4) T(n/4)

cn

cn/2

cn/4 cn/4

cn/2

cn/4 cn/4

Figure 2.5 How to construct a recursion tree for the recurrence T .n/ D 2T .n=2/ C cn.
Part (a) shows T .n/, which progressively expands in (b)–(d) to form the recursion tree. The fully
expanded tree in part (d) has lg n C 1 levels (i.e., it has height lg n, as indicated), and each level
contributes a total cost of cn. The total cost, therefore, is cn lg nC cn, which is ‚.n lg n/.
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Mergesort: real running time

Thời gian chạy ước lượng:

Laptop thực hiện 108 so sánh/giây.

Siêu máy tính thực hiện 1012 so sánh/giây.

9

Mergesort:  trace

result after recursive call

Trace of merge results for top-down mergesort

                                                    a[]
                                    0  1  2  3  4  5  6  7  8  9 10 11 12 13 14 15  
                                    M  E  R  G  E  S  O  R  T  E  X  A  M  P  L  E
        merge(a, aux,  0,  0,  1)   E  M  R  G  E  S  O  R  T  E  X  A  M  P  L  E  
        merge(a, aux,  2,  2,  3)   E  M  G  R  E  S  O  R  T  E  X  A  M  P  L  E  
      merge(a, aux,  0,  1,  3)     E  G  M  R  E  S  O  R  T  E  X  A  M  P  L  E  
        merge(a, aux,  4,  4,  5)   E  G  M  R  E  S  O  R  T  E  X  A  M  P  L  E  
        merge(a, aux,  6,  6,  7)   E  G  M  R  E  S  O  R  T  E  X  A  M  P  L  E  
      merge(a, aux,  4,  5,  7)     E  G  M  R  E  O  R  S  T  E  X  A  M  P  L  E  
    merge(a, aux,  0,  3,  7)       E  E  G  M  O  R  R  S  T  E  X  A  M  P  L  E  
        merge(a, aux,  8,  8,  9)   E  E  G  M  O  R  R  S  E  T  X  A  M  P  L  E  
        merge(a, aux, 10, 10, 11)   E  E  G  M  O  R  R  S  E  T  A  X  M  P  L  E  
      merge(a, aux,  8,  9, 11)     E  E  G  M  O  R  R  S  A  E  T  X  M  P  L  E  
        merge(a, aux, 12, 12, 13)   E  E  G  M  O  R  R  S  A  E  T  X  M  P  L  E  
        merge(a, aux, 14, 14, 15)   E  E  G  M  O  R  R  S  A  E  T  X  M  P  E  L  
      merge(a, aux, 12, 13, 15)     E  E  G  M  O  R  R  S  A  E  T  X  E  L  M  P 
    merge(a, aux,  8, 11, 15)       E  E  G  M  O  R  R  S  A  E  E  L  M  P  T  X  
  merge(a, aux,  0,  7, 15)         A  E  E  E  E  G  L  M  M  O  P  R  R  S  T  X 

lo hi

Mergesort:  animation

10

http://www.sorting-algorithms.com/merge-sort

50 random items

in order

current subarray

algorithm position

not in order

Mergesort:  animation

11

http://www.sorting-algorithms.com/merge-sort

50 reverse-sorted items

in order

current subarray

algorithm position

not in order

12

Mergesort:  empirical analysis

Running time estimates:

・Laptop executes 108 compares/second.

・Supercomputer executes 1012 compares/second.

Bottom line.  Good algorithms are better than supercomputers.

insertion sort (N2)insertion sort (N2)insertion sort (N2) mergesort (N log N)mergesort (N log N)mergesort (N log N)

computer thousand million billion thousand million billion

home instant 2.8 hours 317 years instant 1 second 18 min

super instant 1 second 1 week instant instant instant

26



Quicksort: Ý tưởng

Ý tưởng:

Chia: Phân bổ (đổi chỗ các phần tử) mảng A[p . . . r ] thành hai mảng

A[p . . . q − 1] và A[q + 1 . . . r ], sao cho các phần tử của mảng

A[p . . . q − 1] đều nhỏ hơn hoặc bằng A[q] và các phần tử của mảng

A[q + 1 . . . r ] đều lớn hơn hoặc bằng A[q].

Trị: Sắp xếp hai dãy con bằng đệ quy sử dụng quick sort.

Hợp: Vì các mảng con đã được sắp xếp và A[q] nằm đúng vị trí của nó

trong mảng nên mảng A[p . . . r ] được sắp xếp.

27



Quicksort’s pseudo-code

PARTITION(A, p, r)

1: x = A[r ]

2: i = p − 1

3: for j = p to r − 1 do

4: if A[j ] ≤ x then

5: i = i + 1

6: exchange A[i ] with A[j ]

exchange A[i + 1] with A[r ]

7: return i + 1

28



Quicksort’s main pseudo-code

Quick sort(A, p, r)

1: if p<r then

2: q =PARTITION(A, p, r)

3: QUICKSORT(A, p, q − 1)

4: QUICKSORT (A, q + 1, r)

29



174 Chapter 7 Quicksort

≤ x > x

x

p i j r

>x(a)

≤ x > x

x

p i j r

≤ x > x

x

p i j r

≤ x(b)

≤ x > x

x

p i j r

Figure 7.3 The two cases for one iteration of procedure PARTITION. (a) If AŒj � > x, the only
action is to increment j , which maintains the loop invariant. (b) If AŒj � � x, index i is incremented,
AŒi� and AŒj � are swapped, and then j is incremented. Again, the loop invariant is maintained.

7.1-2
What value of q does PARTITION return when all elements in the array AŒp : : r�

have the same value? Modify PARTITION so that q D b.p C r/=2c when all
elements in the array AŒp : : r� have the same value.

7.1-3
Give a brief argument that the running time of PARTITION on a subarray of size n

is ‚.n/.

7.1-4
How would you modify QUICKSORT to sort into nonincreasing order?

7.2 Performance of quicksort

The running time of quicksort depends on whether the partitioning is balanced or
unbalanced, which in turn depends on which elements are used for partitioning.
If the partitioning is balanced, the algorithm runs asymptotically as fast as merge

30



Quicksort: real running time

Thời gian chạy ước lượng:

Laptop thực hiện 108 so sánh/giây.

Siêu máy tính thực hiện 1012 so sánh/giây.

Quicksort animation

17

http://www.sorting-algorithms.com/quick-sort

50 random items

in order

current subarray

algorithm position

not in order

18

Quicksort:  implementation details

Partitioning in-place.  Using an extra array makes partitioning easier  
(and stable), but is not worth the cost. 

 
Terminating the loop.  Testing whether the pointers cross is trickier  
than it might seem. 

 
Equal keys.  When duplicates are present, it is (counter-intuitively) 
better to stop scans on keys equal to the partitioning item's key. 

 
Preserving randomness.  Shuffling is needed for performance guarantee. 

Equivalent alternative.  Pick a random partitioning item in each subarray.

stay tuned

19

Quicksort:  empirical analysis (1961)

Running time estimates: 

・Algol 60 implementation. 

・National Elliott 405 computer.

Elliott 405 magnetic disc
(16K words)

sorting n 6-word items with 1-word keys

20

Quicksort:  empirical analysis

Running time estimates: 

・Home PC executes 108 compares/second. 

・Supercomputer executes 1012 compares/second. 

 
 
 
 
 
 
 
 
 
 
 
Lesson 1.  Good algorithms are better than supercomputers. 

Lesson 2.  Great algorithms are better than good ones.

insertion sort (n2) mergesort (n log n) quicksort (n log n)

computer thousand million billion thousand million billion thousand million billion

home instant 2.8 hours
317 

years
instant 1 second 18 min instant 0.6 sec 12 min

super instant 1 second 1 week instant instant instant instant instant instant
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Quicksort’s running time complexity
176 Chapter 7 Quicksort

n

cn

cn

cn

cn

� cn

� cn

1

1

O.n lg n/

log10 n

log10=9 n

1
10

n 9
10

n

1
100

n 9
100

n9
100

n 81
100

n

81
1000

n 729
1000

n

Figure 7.4 A recursion tree for QUICKSORT in which PARTITION always produces a 9-to-1 split,
yielding a running time of O.n lg n/. Nodes show subproblem sizes, with per-level costs on the right.
The per-level costs include the constant c implicit in the ‚.n/ term.

ing why is to understand how the balance of the partitioning is reflected in the
recurrence that describes the running time.

Suppose, for example, that the partitioning algorithm always produces a 9-to-1
proportional split, which at first blush seems quite unbalanced. We then obtain the
recurrence

T .n/ D T .9n=10/C T .n=10/C cn ;

on the running time of quicksort, where we have explicitly included the constant c

hidden in the ‚.n/ term. Figure 7.4 shows the recursion tree for this recurrence.
Notice that every level of the tree has cost cn, until the recursion reaches a bound-
ary condition at depth log10 n D ‚.lg n/, and then the levels have cost at most cn.
The recursion terminates at depth log10=9 n D ‚.lg n/. The total cost of quick-
sort is therefore O.n lg n/. Thus, with a 9-to-1 proportional split at every level of
recursion, which intuitively seems quite unbalanced, quicksort runs in O.n lg n/

time—asymptotically the same as if the split were right down the middle. Indeed,
even a 99-to-1 split yields an O.n lg n/ running time. In fact, any split of constant
proportionality yields a recursion tree of depth ‚.lg n/, where the cost at each level
is O.n/. The running time is therefore O.n lg n/ whenever the split has constant
proportionality.

Cách tính thời gian với giải thuật sử dụng chia để trị:

T (n) = T (9n/10) + T (n/10) + cn.
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Quicksort:  best-case analysis

Best case.  Number of compares is ~ n lg n.

random shuffle

initial values

Worst case.  Number of compares is ~ ½ n 2 .

22

Quicksort:  worst-case analysis

random shuffle

initial values

Proposition.  The average number of compares Cn to quicksort an array of  
n distinct keys is ~ 2n ln n (and the number of exchanges is ~ ⅓ n ln n ). 

Pf.  Cn satisfies the recurrence C0 = C1 = 0 and for n  ≥  2: 

・Multiply both sides by n and collect terms: 

・Subtract from this equation the same equation for n - 1:  

・Rearrange terms and divide by n (n + 1):

23

Quicksort:  average-case analysis

CN

N + 1
=

CN�1

N
+

2

N + 1

NCN = N(N + 1) + 2(C0 + C1 + . . . + CN�1)

NCN � (N � 1)CN�1 = 2N + 2CN�1

CN = (N + 1) +

�
C0 + CN�1

N

�
+

�
C1 + CN�2

N

�
+ . . . +

�
CN�1 + C0

N

�
partitioning

partitioning probability

left right

・Repeatedly apply previous equation: 

・Approximate sum by an integral: 

・Finally, the desired result:
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Quicksort:  average-case analysis

CN � 2(N + 1) lnN ⇥ 1.39N lg N
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Quicksort:  best-case analysis

Best case.  Number of compares is ~ n lg n.

random shuffle

initial values

Worst case.  Number of compares is ~ ½ n 2 .

22

Quicksort:  worst-case analysis

random shuffle

initial values

Proposition.  The average number of compares Cn to quicksort an array of  
n distinct keys is ~ 2n ln n (and the number of exchanges is ~ ⅓ n ln n ). 

Pf.  Cn satisfies the recurrence C0 = C1 = 0 and for n  ≥  2: 

・Multiply both sides by n and collect terms: 

・Subtract from this equation the same equation for n - 1:  

・Rearrange terms and divide by n (n + 1):
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Quicksort:  average-case analysis
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・Repeatedly apply previous equation: 

・Approximate sum by an integral: 

・Finally, the desired result:

24

Quicksort:  average-case analysis

CN � 2(N + 1) lnN ⇥ 1.39N lg N
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